EWTHYEY | 99 vS8 2 6°G ST £ HL HEe | &£H8THL HE £ HL HE VI
XY 9701 SV ¢ L cS 1 £HOTHT HITIT £19 HZ HIIT £HOTHIS HOT c1
B FH X 0L 0S ¢ 0L LS 1 £H0C HVI H 21 £H10T HST H 2T £18 HVI HZI sl
B FH X 6 9 63 "¢ L TL°1 £ HZC HT £HOT HZC H'T £19 HICHT IT
) ot Y = 0°8 €62 78 €L1 £1C HET HS &1V HOT HS £ HIT HS 0T
W) it = €8 96 2 9L 061 £19T HS8 HZI | £18 HOTI HZI #0THL HZI | 6
N T g ¢ 11 0¢ "¢ ¢'11 76 1 £40 HSCHTIIT £HOTHSCHIT £48 HECHIT 8
BEWHYSHEY | 1L 2g '€ 0°8 1'% £H0 HL HZ | £H9THL HZ HHVTH9 HG L
HENTHLE | G2l vy 61T Vg £HY HLZHG6 | £HOTHLZ H6 £HZT HSZ H 6 9
T ¥ oyt 5 = L8 6€°G 1°6 ¥0 '€ £122 H9Z H S £1T H6Z HS £H1T HSS HS g
HXYFEC 8L €9 'V S 6 81 ¢ £48T HOT H ¢ £19 HZT HE £HZT HOT H € v
B HY el S6 ¥ 86 6V "¢ £H0THL HIT £H2TH6 HIT £H0CHS HIT S
FHE Nt E = 8 CI1 96 g S0l [ % £19 HET HTI £HO0T HVYS HCT £H9T HZZ HCT 4
FHE )t E = G gl ST "L 6 01 80 ¢ £HST HTIE H T £ HIS HCT £10T H6Z HCT T

o v (s) %M (w) 2@ | (S) Mf [ | (w) o £ W 3 S

i T HETE HEE B 2
(PT~T) 0107 L=

FHEHFE HE yeeV-EH




